

Pay Estimate Created Date: January 3, 2022

Progress Es N	umber C		10917-F06	0	Pay Period Start	December 16, 2021	Original Contract Amo	unt \$230,160.41		
3			SD Environmental ic.	Services,	Pay Period End	d January 1, 2022	 Net Change Order Amount Current Contract Amount 	\$0.00 Jint \$230,160.41		
Approval Date								By User		
January 3, 2022			Generated and A	Approved (a	nd should be cons	sidered Draft) at th	ne Project Office Level by	burlbe		
January 3, 2022		Re	eviewed and Appro	ved (and sh	nould be considere	ed Draft) at the Re	esident Engineer Level by	vancef		
January 4, 2022			F	Reviewed a	nd Approved at the	e Central Office C	controllers Office Level by	ramses1		
Original Completion	n Date	Current Cor	npletion Date	Actua	I Completion Dat	te % o	f Current Contract Amoun	nt Contract Amount Complete		
September 1, 20)22	Septemb	er 1, 2022				81.10%			
	Contract	Informational Da	ites		Milest	tones				
Date Description	Original	Completion Date	Current Comple	tion Date	No Milestones E	xist for Contract				
Acceptance Date										
Awarded Date	October 6	6, 2021	October 6, 2021							
Letting Date	Septemb	er 17, 2021	September 17, 2	021						
Notice to Proceed Date	Novembe	er 8, 2021	November 8, 202	21						
Open to Traffic Date										
		er 29, 2021	November 29, 20)21						

Contract rotarray ror Estima	te 110. 5				
		This Estimate	Previous	To Date	
210917-F06					
Total Po	sted Items Pay	\$39,743.74	\$146,911.08	\$186,654.82	
Gross It	em Adjustments	\$87.29	(\$53.90)	\$33.39	
Incentiv	e	\$0.00	\$0.00	\$0.00	
Disincer	ntive	\$0.00	\$0.00	\$0.00	
Liquidat	ed Damage	\$0.00	\$0.00	\$0.00	
Other C	ontract Adjustments	\$0.00	\$0.00	\$0.00	
	-		<mark>\$146,857.18</mark>	\$186,688.21	
Contract Total Payable This Es	stimate:	\$39,831.03			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Current Installed Amount				
J6S3090C	0010	2013000	CLEARING AND GRUBBING	ACRE	\$3,112.000	0.25	\$778.00	
	0020	2031000	CLASS A EXCAVATION	CUYD	\$23.860	1,505	\$35,909.30	
	0040	6119910	MISC.CLASS VI RIP RAP	TONS	\$31.880	23.32	\$743.44	
	0050	6169901	MISC.TEMPORARY TRAFFIC CONTROL	LS	\$2,556.000	0.5	\$1,278.00	
	0090	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$4,140.000	0.25	\$1,035.00	
Project J6S30	90C - Total						\$39,743.74	
Overall - Total								

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line item A	ujustin	ents mis estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3090C	0020	CLASS A EXCAVATION	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	816	\$0.06	\$47.33
	0020	CLASS A EXCAVATION	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	689	\$0.06	\$39.96
Total								\$87.29



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	on				
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work						
J6S3090C	FAS S703(32)	Bank Stabilization	E	JEFFERSON	0.16 mi. s/o Rte. N in De Soto						
Totals by Jo	b Numbers	6									
J6S3090C		Item Pay tem Adjustme		Item Pay	This Estimate \$39,743.74 \$87.29 \$39,831.03	Previous \$146,911.08 (\$53.90) \$146,857.18	To Date \$186,654.82 \$33.39 \$186,688.21				
			tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00				

Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 210917-F06, Contract Project J6S3090C, Project Item Line Number 0030, Contract Line Item Number 0030, Item 2032000, Minor Item.	CO Forthcoming	burlbe	Acknowledged

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities a	nd value	s are ba	ised on Re	port Generated date and can differ from the posted amo	unt at the	time the	Estimate wa	as Gene	rated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210917-F06	J6S3090C	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$3,112.00	\$3,112.00
		0001	0020	2031000	CLASS A EXCAVATION	3,736.00	0.00	3,736.00	CUYD	3,736.00	\$23.86	\$89,140.96
		0001	0030	2032000	CLASS C EXCAVATION	171.00	0.00	171.00	CUYD	176.00	\$40.63	\$7,150.88
		0001	0040	6119910	MISC.CLASS VI RIP RAP	3,074.00	0.00	3,074.00	TONS	1,876.46	\$31.88	\$59,821.54
		0001	0050	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	1.00	\$2,556.00	\$2,556.00
		0001	0060	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN CONTRACTOR FURNISHED/RETAINED	1.00	0.00	1.00	EA	0.00	\$5,000.00	\$0.00
		0001	0070	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$15,763.30	\$15,763.30
		0001	0080	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	2,030.00	0.00	2,030.00	SQYD	1,834.00	\$2.71	\$4,970.14
		0001	0090	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$4,140.00	\$4,140.00
	Project J6S3090C - Total Value Posted to Date as of Report Generated Date											\$186,654.82
210917-F06 Ove	rall - Total V	alue Poste	d to Date	as of Repor	t Generated Date							\$186,654.82



Project: J6S3090C

Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date		Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2013000	CLEARING AND GRUBBING	12/17/21	12/20/21	0.25	ACRE		26+50		34+00		
0020	2031000	CLASS A EXCAVATION	12/16/21	12/20/21	816.00	CUYD		30+00		32+00		
			12/17/21	12/20/21	689.00	CUYD		32+00		34+00		
0040	6119910	MISC. EMBANKMENT PROTECTION	12/21/21	12/27/21	23.32	TONS		26+50		34+00		total tons from tickets
0050	6169901	MISC.	12/21/21	12/27/21	0.50	LS		26+50		34+00		
0090	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	12/21/21	12/27/21	0.25	LS		26+50		34+00		

The information below this line are details for Construction Signs (if applicable), No Data Available



Line Item Adjustments by Estimate

Jan 5, 2022

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3090C	6S3090C 0020 CLASS EXCAVATIO		Price FUEL		2	Dec 16, 2021	SYSTEM	\$129.40	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Jan 3, 2022	SYSTEM	\$87.29	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$216.69	
			Price FUEL	- Total				\$216.69	
	0020 -	Total						\$216.69	
	0030	CLASS C EXCAVATION	Overrun	Overrun	2	Dec 16, 2021	SYSTEM	(\$203.73)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - T	otal			(\$203.73)	
			Overrun - T	otal				(\$203.73)	
			Price FUEL		2	Dec 16, 2021	SYSTEM	\$20.43	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$20.43	
			Price FUEL	- Total				\$20.43	
	0030 -	Total			_		_	(\$183.30)	
	0080	PERMANENT EROSION CONTROL	Material		2	Dec 16, 2021	SYSTEM	\$4,970.14	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user burlbe overridding Payment Estimate Exception 1 on the current Payment Estimate.
		GEOTEXTILE			2	Dec 16, 2021	SYSTEM	(\$4,970.14)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0080 -	Total						\$0.00	
J6S3090C	- Total							\$33.39	
Overall - T	otal							\$33.39	